[ Efficiency vs vertpos |
~ 0.8

.........................................

efficiency vs ver
o
()]
+

44

Ratio

||}-||

+141

0.95L :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT _original

Effici —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
iclend _, DQM_TT__mod_modelsdeep_something3

~N 1.2

efficiency vs ver

Ratio

| I FR— BEY SRR D T Y

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.8

o
3

o
o))

o
o

efficiency vs Sim. PV
o
Iy

©
w

©
N

0.1

Ratio

0521510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


